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0 1) Whlch one of the followmg isa monosacchande‘7

i Maltose  ii.  Galactose  iii.  Sucrose  iv. Lactose

02) A nucleotide is made by the combination of several components. Which oneisnota

component of nucleotide?
i Nitrogenous base ~ ili.  Nucleic acid
ii. Phosphate , '~ iv.  Pentose Sugar

103) The biological molecule important for the protection of internal organs is,

i. Lipids ii. Protein iii.  Carbohydrate iv. .~ Cellulose

04) Given below are some functions of mineral ions in human body.
a) Important for the absorption of Vitamin B.
b) Essential for the production of Thyroxm hormone.
¢) Essential for the product=ion of Haemoglobm

The mineral ions perform these functions respectlvely are,
i. Todine, Prosperous, Calcium 4 iii. Potassium, Iodme, Iron
ii. Magnesmm Iron, Iodme . iv.  Calcium, lodine, Iron

05)The disease cause by the deficiency of the hormone mentloned inb)is,
i. Muyscle pain iii.  Increase in heart beat o ,
ii. Limiting the growth iv. Limiting the mental development ——

i+ Insmall intestine jii. Inhver
< i, .dn duodenum ' iv\._/ﬁ Imprommal convoluted tubule

07) Given below are the orgamzatlonal levels of the human body
Cells — Tissues —» Organs —— Systems ——»Organism

Ay (B) © (3 ®)
The examples for A and C are, R ‘
i,  Blood vessels—p Heart ~ jii.  Parenchyma cells —» Leaf
ii.  Leaf—p branch iv.  Roothaire<— Root
nae - . -
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08) Which one of the flowing is an example for a branched polymer?
i Rubber ii.  Polythene fii.  Vulcanized rubber iv. Teflon

09) Select the correct statement on Mitosis.

i. Maintain a constant number of chromosomes.
ii. = Contribute for the formation of variations.

i Forming haploid and diploid stages.”

«wv.  Forming 4-cells at the end of the division. _

"»

10) A component present in the Glomerular filtrate of a healthy person is,
. i Blood cells  ii. Albumin ~ iii. -~ Glucose : iv. Globulin

11) The false statement about the nucleic acid is,

i. DNA molecule is a double helix structure

ii. C:H,ON and P present in nucleic acids.

iii.  Virus has DNA or RNA as their genetic material.

iv. The Nitrogenous base connects with Adenine is Thiamine

12) Which is not a result in genetic engineering?

i. Purification of bio water.
Al Production of Gold rice by adding vitamin B
ii. . Identification of criminals using the finger printing
iv. Production of genetically modified food by developing insect resistant, disease

resistance verities

Answer questions no 13 and 14 usihg the given diagrém.

selver

13) Which one of the following can be used to apply the metal on the spoon? -
i. - CuSO4 ii. AgNO; ik AuCN iv.  H2SO4

14) Select the correct statement about the setup.
i. The spoon should connect as the Cathode.
ii.  Cathodeisthe oxidation terminal. -
{ii.  The piece of metal should connect as the Cathode.
iv. CuSO, should be used as the electrolyte.
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15) An observation can be seen in the dissociation of KMnO, is,

i Forming a green colour solution.
ii. . * Forming a black colour powder.
iii.  Glowing a splinter.

iv. All the above observations.

16) The comj)onent cannot be use to produce O; gas is, - .

i KNO; i K;MnOQ, ‘ iii. - KCIO, iv. H,0,
Answer questions no 17,18,19 using the given table.
Element Atomic Number Mass Number

A 2 , 18

B T - 14

C 6 12

D 11 23

E 6 . 13

17) Examples for isotopes are, , :
i AB i BD i CE iv. DE

18) Which of the following pair of elements can make an ionic compound‘7 - :
i - AamdB ii. . . CandD iii. BandD iv.  CandE.
19) The molecule has a triple bond is, )
i A ii. B finin) )6 5= AV. oD

20) The amount of Potassium which has the similar number of atoms present in 36g of
Magnesium is, (Mg-24, K- 30) '

L 195 i, o5 iii. 585 iv.  78g
21) Which of the following instance where the solvent extraction is- used"
i, Extraction of salt from sea water.
ii. Removing chlorophyil pigments in plant leaves.

iii.  Production of petroleum fuel.
iv. Separating Nitrogen from ajr.

22) What compound gfves an acidic solunon by reacting with water? -
‘i NaCl ii. NaO iii. MgO iv. SO,

23)CaCO3—» Ca0+CO, whatis the amount. of CaO produced by reacting 66kg of
Co, according to this reaction? '

i 28Kg i S6Kg . »iii.? ‘ 84Kg © v, 112Kg
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24) Which of the followmg factor affects the increment of solublhty of a solute?

i Exist the solute as the powder . .
- ii. . Increase the concentration of the solution.

iii. Increase the temperature of the solution

v,  Applying catalysis

25) The velocity time graph of a fl'l.llt falling from a tree |s,

|0 NI V2 o

. T

)

26) The weight of an object in air is 20N. The weight of the object when it is fully immersed
in water is 8N. The up thrust of the object is,
i. 3N ii. I5N iii. 12N iv. 18N

27) The false statement about the heat ray is,

i A type of electromagnetic wave.
ii. Medium is not necessary for the propagation.
iii. Cannot be reflected.

iv. Has the velocity of the light.

28) The electrical equipment in house which is automatically switched off in lightening is,
i Trip Switch ili.  Multi circuit breaker
ii. Main Switch iv. Electric meter

29) An object kept beyond 2F in front of a convex lens is kept closer to the les gradually. The
instance where a virtual image is formed is,
i When the object is beyond 2F
ii. When the object id on F .
iii.  When the object in between F and 2F
» iv.  When the object in between the lens and the mirror

30) The correct answer for 1KWh is,
i. 3.6x10% ii.  3.6x10°J iii. 3.6x107J iv.  3.6x10%1

31) The equipment used to smooth the rectified wave in full wave rectification is,
i Capacitor ii. Resistor iii.  Transistor iv.  Diode

S¥
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32) Select the correct statement about the following equipment.
i. This is a NPN transistor ) o
ii.  Bendisconnected to an type semiconductor -
iii A nasitive voltage should supply to C end ' |
iv.  The current enters from C end em '

33) The reason to increase the conductivity of intrinsic semiconductors is,
i. Increasing the number of free electrons
ii. Increasing the number of holes
iii.  Increasing both free electrons and holes
iv. Decreasing both free electrons and holes

~
— e

" 34) The measurement of the voltmeter given in the circuit is 6V. The ammeter reading is,

3 AN——WW——M———
, 3Q.

3Q 30
i 0.6A ii. 1.3A ii. "~ 2A .oive 18A

35) Given below is a refraction of a light ray through two transparent mediums. Select the
correct statement about the diagram.

/ - watebr

i The light ray bends towards the normal due to the hlgh densxty of glass _’ |
. than air. 4
i, The light ray travel from glass to denser is bend away from the normal due

to high density in air. : :

iii. When a light ray travels from glass to-air the angle of mcndence is higher
than the angle of refraction. :

iv.  When increasing the angle of incidence in water the total internal
reflection can be take place.

36) The following chart shows the motion of an object in a linear path.

Time(s) 0 1 2 3 4

Displacement{m) 0 4 0 { 4 0

The total distance travelled by the object is,
i. 2m ii. 4m iii. 8m iv. 16m
S i1 science S 538
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*‘ "~ 37T)Select the correct answer by the following statements.

A - Black surfaces absorb more heat rays.

B _ The temperature of the hlack colour surfaces is high in day time.

i Statement A is correct and statement B explain the Statement A
" ji. ~ Statement A is correct and the statement B does not explain the statementA . -
" §i’ The statement A is incorrect. ' : e

iv. Both A and B statements are incorrect. |

»

38) Which of the following statement is correct about the artificial flavourings?
i They control the amount of sugar in blood.
ii. The effect on health is.very less.
iii.  Increase the taste, colour, flavour of food. .
iv.  Increase the digestion of food and prevent acidic condition in stomach.”

39) The effect of persistent organic pollutants is,

i. Mutations occur in birth.
ii. Retardation of mental development.

iii.  Weakening the function of reproductive systems.
iv.  All the above.

40) The temperature of our country during the months of July — September is very high. But,
the sweating during that period is less. The scientific reason for this is,
. The relative humidity during that period is high.
ii.  The relative humidity during that period is fess.
i The speed of the wind is high during that period.
iv.  The body feels comfort by increasing the temperature.

19
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Science —Paper I

Grade - 11 ' " Time: 03 hrs
« Answer all the questions in part A in the given space . ..

« Select three questions from the part B and answer them.

Part A

01) The following diagram shows how a person take fertile soil necessary for his cultivation from a
place which is close to his home.

\
-
o
A) L Wiite onc reason for the fer uhty of soil in that place. P
e evassesasasssssesaesesassass s eeessbsas s s R e b s s R b s Rt s bR ER SRS e s (01)
il. He saw that water in area A in the surrounding water body is green in colour.
a) Write on human activity cause this problem. / 01
b) What is this environmental problem? (01)
¢) Name two ions cause this condition 1)
Lorteereearersnesorsssenesnanniessanns Zeorreeereserraessasssn e r e sanae
B) 1) The person who takes soil from that place said that there is a bad odour in that place.
i. Name the main gas cause this condition. 1)
i Wnte the chemical formula of the gas and mention the type of bond init. (1))
iii. What is the importance of this gas for the energy crisis? (i8]

............................................................................................................................
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2) This‘person got the help of another person t:c:i:brihg soil. He lifts one basket of soil once.

The time taken for that is 2 minutes.

. . Whatis the energy stored in lifted SOI? wrvsvrmsorssrersrsssssn ©1)
ii. What is the amount of energy stored in soil lifted once? . (o1
iii. Calculate the energy spent by a person to lift the soil once. ' 01)
(The mass of man is 50kg)

.....................................................................................................
.....................................................................................................

.....................................................................................................

.......................................................................................................................

.......................................................................................................................

C) These people seemed too tired after some time. The resplratory rate was hlgh t00.

i Write two other observations other than the above charactenstlc (01)

ii. What is the advantage of high respiratory rate? (01)

iii.  Write the blood pressure of a healthy person. ’ (1))
SRR - 3 - 2O OO PP PO R R T S EL L teeeeeseressrsneessssstsesanvssstsessnns

iv.. The action of hormones are very unportant to ready the body for a suddcn 51tuat10n

a) Name that hormone and the endocrme gland which it is secreted (01)
b) N Write two changes in the human body can be seen in this mstance (01)
(Total“ 15 marks)

02) A)The following dxagram shows the factors essential for a process take place in the green
leaves.




1. What is the process take plaee in the above green . 1eaf7 (01)
2. Name the factors given as A and B (01)
A eererverrensneesenaasssssssresars reiesasvaras Bhoooeeeecevessersssssesessesrmenzesseanssrnsssusssesases

3. What are the other factors essentlal for this process which are not mentioned in ilic diagiam? (01

Looeveseessssnsessensesnssnnsoasarassssssnsipeassssres Thoosveresssssesssassssrtssessasamssasscsesssssnassanesess
4. Write the balanced chemxcal equation for the process take place in the green leaf. (01)
5. A complex tissue is needed to transfer one of the above factor to the plant leaf.
i WHhat iS that tISSUE? w.ceermsmrrssmesessssissssssnssssssesssss st essasssaas st semsseacess 01) A
-
ii. Mention a living and nonliving cell in that tissue. 01)
PV B 1 117 | TR
b. Nonhvmg CELlmrneerereeerereermssesiserstsnsanesesasassannsasasass R

6. Draw a setup whxch can be used to prove that the factor Bis essentlal for this process.(01)

“

B) Reproductlon isan 1mportant process for the existence of hvmg beings. -

1. Name the vegetative reproductlve structures of the followmg plants. o ©02)
1.Ping apple- il L iU TermeriC e serianes irereneneenesasseons
HLLEEKS 1. 1euiverrereersssessnmassmssssannnsns  iv.Bread fritt-.. oo iinnniessionnninnienens
2. Write two charactenstlcs of stock and scion used in graftmg. ~(01)
Stock . , o
Scion - stock
T eeeesesrees | v i
T ovesssesssesstasnassassasienes | aesssesiessasseasissessE s
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i Name & biseXUAl FIOWET......rrereeerirmmsssssrssssssasssscmsssemsessesssnsees
ii Name an a5eX0al fIOWET...uuurvueerressmsrsrssmmmmssssrassssessessmsssssssmsssoseees
il The flower ShOWS the Self STy ormcrussssmsssssmsesmrnerierees
Civ. The flower does not show an adaptation to prevent self POLEDALION. .ovvvvvsrensessmasersssnsmsseeresss
V. Why is the cross pollination is more BENETICAALY vvvesrrnssrrasiessecsersessismmassssissassanssasssissasissssssss

--------------------------------------------------------------------------------------------------------------------------------------------------------------

4. Fertilization of ova in human reproduction take place in the upper part of the fallopian tube, Write

-two adaptations of sperms {0 perform their function. o1
. o P TS (Total=15marks)
03) A) Given below are some information about element ‘X’
' Atomic number -19 . o
} Mass number -39
Relative atomic mass — 39 -

i. Write the electronic configuration of the element. S S (0))
ii What is the number of neutrons present in ‘X ? o1

e asianie s enss s s s RS S Y

iii. Write the atomic number and the mass humber according to the standard mcthod. 01

.......................................................................................................................................

iv. Write the correct symbols for the blanks in this chart. | - 02)
] ,.c‘X, e
-39
p

39g
R 2
P No of mples
- R




B) Given below are the electro negativities of some elements.

_Element Li Be B C N 0 Ne
Electronegativity 1 2 | e 3 e | 4 .
i.  Complete the chart using the correct values. (01)

ii. Name the scale which the elecfro negativity is mentioned. ©1). -
ili.  How the electro negativity change along a group? =~ o1y

iv. ~ Name the element have the highest electro negativity. 01

V. Draw the structure of water molecule and explain the structure using the electro o
negativity. (01)

C) The followmgs are steps of a laboratory act1v1ty

p 10cm3 of HCl acid was out in a beaker and measured the temperature of the llqmd

Usmg a thermometer.

- 20cm cleaned Magnesium strip was added into the above beaker.

 Measure the temperature of setup after the reaction.

i. 'Write two observations of the experiment. (o1
ii. Write the balanced shemical equation for the chemical reaction take place here.  (01)
iii. Briefly explain the energy change take place in reactants and products. on
iv. Draw the energy diagram for the chemical reaction. (01)

(Total = 15marks)

-~



. 04) Astudentdid a simple experiment to prevent drying of grass in his home garden using the

knowledge that he leamnt. ST ek 5“‘??'3
< A) 2 -
v ‘ ' ° {e——tha ng“' £Hllect with water
Ly 4
~ 3
By o C : : L
R K e
"L 4 ' . -
9 ‘[AIO 2m |
i Draw a diagram to show how the water spray out of the setup.(Ol) e
i Wnte the reason for changing the dtstancés -'nlhefe, the water is ejected in each
hole. ‘ 01)
iii. Why the holes B and C spray water to a similar dlstances - (01)
iv. Write the observauon whxch the equlpment 1s rotated w1th a high speed (1))
V.. v The following dlagram shows aU tube and a balloon is connected to one end of the
& ssiube. Givean evidence using the dxagram to show that the pressure inside the balloon
is higher than the atmosphcnc pressure. (01)
' <
Bullocn"" i U tub e
h
Aowred- waté?r
Vi Wnte a statement for the pressure inside the balloon. (01)
’ vil. Water is filled up to the top of the vessel given in the first dlagram Find the pressure
* near the hole A.~ T (02)

.................................................................................................................................................
.................

...............................................................................................................................




B) 1) Given below is an expenment done by a group of students to cheek the egpilibrium of forces..

The object is stationary here. Q
xNo "
6003

i. What is the surface reaction of this instance? o . 01)
ii.  Write the resultant force of the above forces. | | ' (VR
fii.  Whatisthe measurement of the spnng balanee X? - Y
2) Givenbelowisa balanced meter ruler.

LLLLLEL L

x

A
ﬁ [
i. What is the requlrement to balance the above ruler" o o1)
Calculate the value of X. ~ (o)

i, A person put a force to open a gate of a house and another person put a force to elose
it. 75N force was applied from 2m distance to open the gate and 100N force was applied from
1.5m to close it.

3Im
i Find the moments of forces exerted by the them. (01)
WHED OPETNE = +.cvauereseressinssssssmmmsssssnessurssssssssaseassessses reesseessssrssansasestabese st sasasasesases
When closing - ............ eveeteteestesessuissasEesRAT SRS SRR RS SRS SRS
ii. Mention whether the gate is open or close at the end.(01)
| PO veveeeeees voesaemseesenenes e votaesaseaerassaseR R e R SRR RS R SRS R SRS 02
586 (Total = 15marks)
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h 05)A) The organisms are c]assiﬁed under three domains according to thé Carl Wooseé.
i. . Namethosetwo domains and mention a characteristic fof ach. 02)

i, Write the kingdoms belong to the Domain Eukaria and name example for each.(02)
iii. Answer the questions using the information given in thetable.
Characteristics e ’_ Habitat
External ear lobes and hairs on body | Live in ferrestrial, aerial and aquatic
) SR environments :
The hody is not segmented. Live in terrestrial and aquatic habitats
Possess an external or internal - '
| skeleton.
Radial symmetrical and show many Live in water
morphological forms _
Three chambered and partially divided | Live in land and water
a) What are the groups of organisms which A and B belong to? (1Y)
b) Name the morphological forms of C group of organisms. i (01)
c) Write two similarities of A group and Aves. - - (01
d) Name a terrestrial and an aquatic organism belongs to B group. - o1
€)  Write two characteristics unique to Chordates. 1) .
B)Given below are some gases cause environmental problems.
SO,, COz, NO2, CHy, H20 Y
Answer the given question using the given gases. :
1. What are the gases which affects the fish live in water bodies? (01
2. Show the above problem by a balanced chemical equation. ) (01)
3. Write the gas cause cataracts and skin cancers . (01)
4. What is the gas which affects ihe increment of sea water level. e
5. Write two solutions can be done to minimize the harm cause by the above
problem. . ' - on
16} 1) Given below is a rough sketch of human brain.
S What is the part responsible for respiration and heart beat? ‘ (01)
il Wheredoes the gland which regulates the body temperature is situated? (01)
iii.  What structure is important in putting a thread to a meedle? .. . " . (01)
iv.  Write the pathway of a reflex arc. o oD

58%




2) i. Name a genetic disease cause by the autosomal genes 6f human. (01)
ii. Write a method to prevent genetically transmitted discases ( : (1))
06) Tarmshmg the metals like Iron, Steel When exposed to air is called rusting.

A) Given below are twocxpenmental setups prepared by students to study the factors )

o#anﬁnn ﬂ»\n met

droul -
: CalGla

L What is the reason to put anhydrous CaCl2 into tube b? (01)
1L Wnte two observations for set upaand b, 02)
IIL Mention the factors essential for rusting respectively according to the observations.

‘ , (1))
Iv. Write the oxidation and reduction reactions take place in rusting; 02)
A Write the chemical name of iron rust and the’ chemnical formula of it. (01)

‘B) : The following set upwas ihade by va Sfodgnt for the further study of rustmg '
Fe ' B
x /! : _
, Agar. < -
L~ Mediom
—Cu .
L Name the colours can be observed near X and Y. : 01)
ii. What is the place where the iron nail get rust? . o (01)
i, Explain the reason. / B (1))
iv. Briefly explain the function of Potassium Ferricyanide. (01)
\A Cathodic protection is done to prevent the rusting of metals,
a)  Whatis cathdic protection? ©n B}
b) Draw two setups can be used to show this method in the laboratory using two
: metals. o (02) .
C) Given below is the activity series used to decide the extraction method of metals.
' K,.2.. Ca, Mg, ..2.., Zn, ..3., S, Pb, H, Cy, Hg, ....4..., Au

L Naine the metals smtable for 1,2,3 and 4. 02)
IL. What is the non-metal present here? ' 01
III. What is the method used to extract metal 1? . 01

5e8
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07)

11

iii.
iv.

vi.

~ a)Name this furnace.

b)For what is thts used for?
¢)What are raw materials used for this?

d)Write two advantages of slag collected here.

A) Given below is a rough sketch of a direct current motor.

X~

What is the direction of the current through the coil? SRR (01)
a) Name the direction of the force exerted on coil, . N (o1)
b)What is the law used to find the above direction? (01)
Write the functions of X and Y. . (02)
Mention the energy transformation take place here. (01)
Write two factors affecting the speed of movement of the conductor. - (02)
What will happen to the movement of the coil if the terminals of the battery is

changed? ' ©(01)

B) The following dlagram shows a sketch of a transformer.

il
iii.

iv.

r" s
6urn$ : /
‘
What type of a transformer is it? Give reasons for your answer. (02)
_ Give an example for an instance where this transformer is used. - (01)

Write the relationship of the number of turns of the primary and secondary coils and
the voltage of the primary and secondary coil. (01)
Calcul‘ate the voltage can be taken from the secondary coil when 230V current is

) supphed to the primary coil. : - (02)

Find the current flow through the secondary coil if 10A current is floe through the

primary coil. _ ' (02)
Write the ratio between the currents flow through the primary and secondary coils.(01)
583 (Total = 20marks)



08) Given below are few organs belong to some systems in human body.

.  Name the systems which A,B,C and D belong to.  _ | ()
ii. a) Name the capillaries which connects A and B. _ (01)
b) Write one difference between those capillaries. ‘ (01)
iii. Write two adaptations of A to increase the efficiency of the above process. (01) =
v. a) What is the substance produces in organ D and transfer to E? 01)
b) Why is it considered as an excretory substance? ‘ ‘ (01)
i.  a)Name the structure which reduces the volume inside the organ A. (01)
b) Write the activity take place inside this structure. , (01)
ii.  Write two functions of tube C to perform it’s function. oD
iii. forming bladder stones is a disease associated with system E. ¥ .
a) Write the chemical formula of this substance. -(0D
b) Write two habits can prevent this disease. al o - (02
iv. The combination of all the above systems can be given by one wbrd. What is it?(01)
B) The following circuit was madepx students to study the Ohm’s Law.
P
: - [
M-
i Wnte the functions of X and Y instruments. (01) :
il. . What is the advantage of connecting the equipment R to the circuit? on -
i Write the measurements should be taken to prove Ohm’s law, . . . 01) ‘
iv. o Drawa graph to show the relationship between these two measurements
) (Name the axes correctly) drsted (01)
V.- - What is the factor should be keep constant during this expenment% I N (1]))
vi. 0 Writea statement for the law which was proved by this experiment. 1.\ (on
Vii. The total resistance of this circuit is 15Q. The voltage of cells is 3V. Find the

- current flow through the circuit. ©on
' D20 b gl waoit s (Total = 20marks)
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09)  'A) Astudent project 200g ball vertically upward with 50ms" initial velocity.- - -
' (Gravitational acceleration is 10ms®) o

1, ‘What is the momentum of the ball when #:starts it's motion? (01)
ii. What is the velocity of the ball when it reached the maximum height? ~  (01)
iii. Draw the velocity time graph for the motion of the ball from the instance where it is
projected to the instance where it reached the ground again. (02)
iv, Find the maximum height which the ball reached. (02)
V.  What is the potential energy obtained by the ball at the maximum height?  (01)

B) A student kept a meter ruler on the table and put a force ori the ruler from the end Aand

released it as given in the diagram.

. B

- Draw the displacement time graph for each vibration. 7 SRR (1] )]

ii. Use X and Y letters to show the maximum vibrations of the above graph. (o1)

ii. Mark the wavelength of the wave as A in the graph. , 01)

iv. Briefly explain the amplitude of the wave using A, X and Y. . (01)

Voo _The metal ruler d1d 200 vibrations in 10 seconds, Find the frequency. 01

C ) Given below are some pbsgyvations of an experiment done by the science teacher to
check the solubility of solutes. A, B and C solvents were used for this. NaCl and I are used as
“solutes. A )

o Golate L - B <. o

@ ;r:";” ) QJ.M' | & W‘

- J

ko.C!'

1| 8

. '; I’- '. LC“;gl:r . 4_C‘Bo'l::r .' C'&\V
k ‘ “ | Setution] . .1 Solakio i T Sola.bij
@ Wy @ et 1 /"

Use the given letters to answer the questions. ...
i The solution diSSOIVES MOTE I2 w.urvriereerssiimnrrrriinssesss 1)
i, The MOSt POIAT SOIVENL. ..cvvvemsrrsrrssssssisssnssssssasses (01)
iii. Unsaturated SOIUHONS. ......uveueiseecsssesssmssasssssnsesesaanes (01)
iv. The solvent has only C-C and C-H bonds......cccoeweresisrussercenes o1
V. What Ffactor affecting the solubility can be explained by ab,c and d,ef solutions.(01)

2) Temperature is one factor affecting the rate of reactions.

1 Name two other factors affecting the solubility of the rate of reactions. (o1)
ii. Draw the setups of the experiment used to show the effect of temperature on rate of
~ reactigns using iron nails. : (02)

531  (Total =20 marks)
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